S—2""side View

S-2

S-2

N,

Top View

Step 1: After cutting all pieces to size as

described on sheet M—2, Take the four parts

denoted S—2 and drill a 1/8 pilot hole through

the broad face of the part at 0.375 from the edge
and ends of all 4 pieces. Use a 1—1/4 wood screw
to attach the cross beams S—2 to the ends of the
plane holder sleeves S—1 as drawn above. For greater
strength, wood glue joints before fastening with screws
for every joint in construction.

Front View

Front View

\ 3_2/

| Co
B 11

Side View

Top View

Step 2: Attach structural longitudinal beams (4)
S—2. Use 1—1/4 wood screws in 1/8 pre drilled holes.

i i Ol
/ 5;; FEL\ i I — s-2
. p > T-6 Notch out S—2 in order to make
S-2 in front s—/ q the barrel of the hinge fit within L2 T —
T- \L—2 the furring so the hinge wings - -
fLit 1ﬂushd v;:rt'h tste ‘;/terti?ol Iegbmember o -_.\
- N —1 an e structural member . 2
L-1—" S~—L—1 s-2. ol S
1/8 pilot hole and L1
g g 1.25 wood screws
| o ]
L=-3
Front View

Step 6: When attaching the front legs one must make

sure the vertical legs are close enough together to swin

freely into the main structure so members L—1 fit flush with

the longitudinal S—2 members and L—3 lays on the surface

of the S—2 members. | would attach the vertical members

L—1 to the hinge T-8 then attach the other half of hinge

T-6 into the hollow carved into cross member S—2 for the hinge
barrel. Attach member L—3 with the legs L—1 in the open position
so L-3 is flush with the surface you are working on.

Notch out cross beam S—3 so barrel
of hinge T—9 fits inside. Wings of
hinge T—9 sit flush with leg members
L—6 and cross beam S—3. Back leg is
to rotate away from main structure to
S-3 allow the rear end to be stuck in the ground
by long nails, allowing an angled launch. s-3

I T-9 \ /— -9

- AT
/—L—S—\

Square hooks in position
to lock back legs in up
position.

E -7 —H5 "]

Side View View from Back

As in step 6 attach cross beam L-7
after attaching L—6 to hnge T-9 and
placing Square Hooks in lower beam

Side View

make sure.point does not stick out

into slider travel.

O
1.75 wood ‘screw (typical 16)

.

R—-1
Front View
1t
g
|l
|l
LU L
Side View Top View

Step 3 Attach slider rails R—1 to structural cross beams
S-2 and Longidudinal Beams S—2. Use 1-1/4 wood screws in 1/8
pre drilled holes.

= ol
LL. <]

(]

|

/5—4 S—4

Side View Top View

Step 4: Attach slider restrictor plate
with finishing nails to rails R—1.

[m]

\
Bl
h
£

="
=

Side View Top View

Step 5: Fasten both back cross beams S—-3 to
rail R—1_through slider restrictor plates S—4
using (4) 1.5 angle brackets T-7.

Secure with glue and screws for
maximum strength. .

Rat trap spring
lead recesse
in top

of D-1
stapled and filled
with Super Glue
and Sawdust.
Make sure surface

D-1

Rat trap spring lead recessed

in wing holding sleeve S—1. Stapled
and filled with super glue and
sawdust. Make sure surface

is flush.

Hinge wing on top of D—1(Typical 2)
Hinge wing underneath structure (Typical 2)

Square hook sofety
lock in S—-2. .

Rat Trap Spring

Rat Trap Spring ‘Stabilizer Rod

| —Rat Trap Spring .

Square hook sufet}'
lock in S—2. -

Square hook safety
lock in S—-2.

X Rat Trap Spring(Typical 2)
VRGQ Trap Spring Stabilizer Rod

for spike to rest in
while secured to ground.

(Sized on M-2)

feel.

Attach slider plate using finishing El
uare hook in L-3 Closed Position nails and wood glue for strength —~_ ||
rsnc’ddle of S—2 to main slider beam.
D:*—l r*:D to lock leg cross
/ N =
I I closed position.|
oo ol y D ( P—1—] |— P-2
b, i =
Gl [ > P-2 O |
ofe ool e [ag Place square bend .
/_ hook In middle of L1 [
: 2 o secure L—5 and locl _
1 || front legs open. ? ©E P—PS 4
1/4 x 2 lag bolt: Z P-3
for L5 to rotate P-4 &P-5
. around. Have rounded.
A ) | end of L-5 butt up T
against stationary
rubber band mount [-© T (]
assembly but leave
enough clearance for I -
L-5 to rotate 90 degrees
freely. Feed slider into rails from back. Make sure slider maves
freely. Attach 1/4 ID eye screws in slider and rail.
(Typical for both sides.)
Front View Side View |
B —
Attach slider movement limiting string to
Common: keep slider from flying from stooge when
Polyester Allow approxi 13% travel.
Garden Twine
Tie string to handle. Make sure string
is long enough to have handle next to
airplane control line handle.
. Hook rubber bands which were
Common Polyester Garden Twine sliced in half over the knobs.
One band per stationary mount
and two per slider.
o
| e e i
C— — 1 =
Ground Level
Make sure safety hooks
il Ei—— 1} Hook swings freely around are released on trap
| S ——— 1/8 wood screw. Two washers door and spikes are in
Spike through both under hook and one above. the ground. Be careful
rails to secure h Tighten to feel. to be behind the plane
stooge to ground. - . when moving safety hooks
Washers epoxied A /-1/ 8 wood screw partially to release position.
over both hole ends © e screwed in. Tighten to




